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QUESTION 1

Click the Exhibit button. 

Referring to the exhibit, if there is a connection failure between router1 and router2, how much time will pass before the
devices declare the BFD session dead? 

A. 1200 ms 

B. 300 ms 

C. 600 ms 

D. 900 ms 

Correct Answer: D 

 

QUESTION 2

Which two statements are correct about the BGP MED attribute? (Choose two.) 
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A. BGP uses the MED value when peering to two or more connections to the same upstream AS 

B. BGP routes require the MED attribute be defined 

C. BGP uses the MED value when peering to two different upstream ASs 

D. BGP assumes the MED value to be 0, if not already defined 

Correct Answer: AD 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/med-attribute.html 

 

QUESTION 3

Which two statements are true for GRE tunneling? (Choose two.) 

A. GRE tunnel endpoints must have a valid route to the remote endpoint 

B. GRE tunnels support multiple logical units per interface 

C. GRE tunnels are stateful by default 

D. GRE tunnels support only one logical unit per interface 

Correct Answer: AB 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/filtering-unicast-packetsmulticast-
tunnel-interfaces.html#id-configuring-unicast-tunnels 

 

QUESTION 4

Which two characteristics describe IS-IS? (Choose two.) 

A. A collection of Level 1 routers serves as the IS-IS backbone 

B. Level 2 routers connect areas in an IS-IS autonomous system 

C. A collection of Level 2 routers serve as the IS-IS backbone 

D. A Level 1 IS routes between areas and toward other autonomous systems 

Correct Answer: BC 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/concept/isis-levelsunderstanding.html 

 

QUESTION 5

Which two statements are true about IBGP on MX Series devices? (Choose two.) 

A. Neighbors can be located anywhere within the AS 
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B. Interface Lo0 must be used for peering 

C. It does not support multihop 

D. It is loop free by default 

Correct Answer: AD 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/bgp-ibgp-peering.html 
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